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BASIC FORMULA

M,xD,xH, _M,xD,xH,

» M = Number of workers

» D = Number of working days
» H = Working hours in one day
» W = Unit of work ( wages )




If 25 men can do a piece of work in 36 days working 10 hours a day,
then how many men are required to complete the work working 6 hours

a day in 20 days?
T 25 GET 36 ToT | 10 € T ¥k Teh hTA W oL Tehd 2, AT 20 737 | 6 5

. C ¢ S S N
TS ShTH Shich ST U i <k TeT0 Tohd = UEUT <hl STkl BHIT 2

1.50 2.60 3.75 4.100
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Some boys do a job in 9 days but 5 of them were absent and remaining boys did the

work in 12 days. The original number of boys was-

S TISch Ueh hTH ohl 9 ToHT H ST & CTToR 3H § 5 STIUTRd o 3R 91¥ oigeh 12 femt &
THTH A 3| TTSeh( chl STEATIeh T off-
(A) 15 (B) 20 (C) 18 (D) 10
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A certain number of persons can complete a work in 34 days working 9 h a day. If the

number of persons is decreased by 40%, then how many hours a day should the

remaining persons work to complete the work in 51 days?

HS S UTATe 9 6 T Y fohet w1l ot 34 FET § o1 ot Wehet 21 TS safxrat ot wea
HY 40% HH T AT 1T 2,07 AW sAtRat i 51 faT F et e o aw we & e e fem
foRrae ©ie /T hEAT U=T?
(@9
(b) 8
(c) 12
(d) 10
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7 men can complete a piece of work in 12 days. How many additional men will be

required to complete double the work in 8 days?
7/ TR A 12 A auaRawd gl 8 ot & S e qun ot o o1

feRar arfafce gosl Y STTarverehar git?

(a) 28 (b) 21

(¢)14 d)7




If 10 men can do a piece of work in 12 days, the time taken by 12 men to do

the same piece of work will be :

gfe 10 s TR R &r 12 oA § s @ehd B, aF 12 et 36t i &t
T T | TeRaT aue e
(a) 12 days (b) 10 days (c¢) 9 days (d) 8 days
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A certain number of persons can dig a trench 200 m long, 100 m broad and 20 m deep
in 20 days. The same number of persons can dig another trench 40 m broad and 30 m
deep in 60 days. Find the length of the 2nd trench.

s Ffdmdenaae 20 eArd 200 deXwst, 100 diex=rgt s 20 #itex
Tl ©TE WIE Oahd gl gaAl gt o Haae 60 feard 40 dWiex =gt ot 30wt
e T SR WS IS Hehd 51 TR TS ST wiaTg uTe)
(a) 2000 m (b) 1000 m (¢) 500 m




If 28 men complete 7/8 of a piece of work in a week, then the number of men, who must

be engaged to get the remaining work completed it together, working 8 hours a day?
afy 28 GEN TR FAHT 7/ 8 9N Ueh UHTE H U el &, A1 Ufafed 8 o &l ot
FU I T Y e FT T B 36 For R gt bt e W SR
(a)5 (b) 6

(c) 4 (d)3
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If one men can complete a piece of work in one day, then 5 men together can complete

S times the work in-
AT Teh SATEHT Uk hTH i Teh G W QU S ThRATS, @1 5 STEHI Th T HH AT 5
AT T T TR § -

(a) 25 days (b) 1 days
(¢) 5 days (d) 10 days




A job can be completed by 12 men in 12 days. How many extra days will be needed to

complete the job if 6 men leave after working for 6 days?

THEHFM AR 12 EHt 12 fad e awd gl ale 6 e 6 G wrdl v sk a1g
HTH BT A & A1 1A ol I HE o forg foram sifafer Tt iy srravaerar gt

(a) 3 (b) 6
(c) 12 (d) 24




A work could be completed in 100 days by some workers. However, due to

the absence of 10 workers, it was completed in 110 days. The original

number of workers was:

FT AHHRT TR FREHI100 &1 7w foram < weha 21 g1evifer 10 swfwat o &
TR ERor s 110 7 & uw forar wem srfirent < wet T oft:

() 100 (b) 110 (¢) 55 (d) 50




30 persons can do a piece of work in 24 days. How many more people are required to

complete the work in 20 days?
30 =Tk Uk hrd ohl 24 o1 & R Wehd g1 T ohT 20 AT & OXn ot o ToTe o foham
SR ShY STTAYIRAT BRIT?
(a) 4 WE
(c)o6 (d) none of these
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16 men finished one-third work in 6 days. The number of additional men are required

to complete the job in next 6 days.
16 G&NT 7 6 Ta=1 H Uk fagrs oore oxr foham o1t 6 ToAT ® ol ol ORT &t o ToTe arfafen
TEHT hY HEAT hl ATITTIhAT g
(a) 10 (b) 8

(¢) 16 (d) 32
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If 12 men working 8 hours a day complete the work in 10 days, how long would 16

men working 7.5 hours a day take to complete the same work?

AT 12 ATEHT § UL WS HTH ik 3T I okl 10 T&EHT H O I 8, AT 16 ATGH 7.5 6
Ao AT h¥ch IHT ShTH ST Teha (o1 H O HTT?
a) 8 days (b) 10 days (c) 6 days (d) 7 days

16
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If six men earn Rs 8400 per week by working 8 hours daily, then how much

will 9 men earn per week by working six hours daily?

gt B oW Ufdfa= 8 € hTH ohteh TTd THTE 8400 TUA HATA &, AT 9 T&W Uidfa
BE ©e hTH hich TTd AHTE fehaT SHATUN?
(a) Rs 8400 (b) Rs 16800 (c) Rs 16200 (d) Rs 9450

17




4 mat weavers can weave 4 mats in 4 days. At the same rate how many mats would

be weaved by 8 mat weavers in 8 days ?
4 TITg TR 4 T3 | 4 9213 I Thd 3| 8T A 8 Ta 8 Tomr 7 ferat wrets g
(a)4 (b)8(c)12 (d) 16

18
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If the expenditure of gas on burning 6 burners for 6 hours a day for 8 days is Rs. 450,

then how many burners can be used for 10 days at 5 hours a day for Rs. 625?

i 8 Toa Tk UTala 6 B¢ 6 TR AATH U TTH T 4T . 450 T, AT Fehae I=T <R STANT 10
o=t o foru 5 5 ueR fo # 625 Tu=r <k foTu fomaT =i weRat 21
(a) 12 (b) 16 (c) 4 (d) 8

19
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12 monkeys can eat 12 bananas in 12 minutes. In how many minutes can 4 monkeys

eat 4 bananas?
12 S 12 T2 H 12 el @1 AHhA | 4 ST 4 Shed fohad Tome § @1 Tehd 22

a)4 min (b) 10 minutes (¢) 12 minutes (d) 8 minutes

20
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A canal of a village can be cleaned by 24 villagers in 12 days. The number of days in

which 36 villagers can clean the canal is?

Ueh T <hT Ueh g ki 24 TATHTUT 12 AT H AT S Tehe 21 36 TTHITUT fehaw feat w e <t
HRTE T Ahd 82
(a) 7 (b) 6 (c) 8 (d) 9

21
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Each student in a school can make five handicraft articles per day. If in an exhibition

1125 articles are exhibited then find how many days were taken by 25 students to make

these articles .
Tk TheT ohT Teeh BT TG UTel SEAhAAT Shl TEqU T Gehal gl ATS Teh TE9IHT H 1125
TEU TG SRl TS § AT AT ShITSTT Teh 3 TEAAT ol I | 25 Tt st fehaw fa &

(a) 6 days (b) 9 days (c) 8 days (d) 7 days

22







